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Is this Group for Examiner?: No
Mathematics

Section Id : 81356148

Section Number : 1

Mandatory or Optional : Mandatory

Number of Questions : 80

Section Marks : 80

Mark As Answered Required?: Yes

Question Number : 1 Question Id : 8135612241 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

fxl+y?—6x—8y+12=0andx® +y%— 4x+ 6y +k = 0 cut orthogonally. then k =

124yt —6x—8y+12 =0 Sdatw x% + yE —4x + 6y + k = 0 Syzren wsmrASsd
Uomﬁﬁéém BA&08 k =

Options:
—24

1.4
5w 24

3' ® _4‘8

—42

Question Number : 2 Question Id : 8135612242 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If the equations 2ax? — 3bx + 4¢c = 0 and 3x% — 4x + 5 = 0 have a common root. then

B el il s S
— isequalto (a,b,c

2ax? —3bx+4c =0 2008050 3> —4x+5=0 HREERANVL) wE &;ﬁ:&d Qroan
+b .

Eold, — Densd dod? (a,b,c € R)
b+c

Options :
1

34

29

Question Number : 3 Question Id : 8135612243 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In how many ways can you arrange the letters of the word “ATTAIN™ so that the T’s are together?

“ATTAIN® H35006° 62000 T e $02 &of D w0y (o DAY JrOO&,J]S

Options:
1 % 120

, % 240
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3.v 60

4. % 2%

Question Number : 4 Question Id : 8135612244 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

InAABC.ifa =13 cm, b = 14 cm and ¢ = 15 cm then its circumradius, R =

ABC @202508 a =13 cm, b = 14 cm 208030 ¢ = 15 cm @00, R =

Options :

8
— cm
1. % 65

i
65

65
— cm
7

65
— cm
8

Question Number : 5 Question Id : 8135612245 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
mf2
J" 2 sin(x) + 3 cos(x)

sin(x) + cos(x) =

0
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Options :

Question Number : 6 Question Id : 8135612246 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The two positive numbers with sum “t’, and the sum of their squares 1s minimum are

B0 Grd) § WoD(® ANSAD ‘T BNEF, T8 STV A0 S0 VEDELY Goll FoL (LW
s el Sl )

SOIY)eD.
Options :
t 3t
— ,—
1% 4“4
t 2t
,x 3’3
t t
!
3 @ 2 M
4. ®
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Question Number : 7 Question Id : 8135612247 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If (1,a). (b,2) are conjugate points with respect to the circle x* + y2 = 25. then 4a + 2b =

x? +y? =25 Hdo Qagjs (1,a) Sobatw (h,2) e Rocthord) Dodoen wows, 4a +2b =

Options :

4 % 100

Question Number : 8 Question Id : 8135612248 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which of the following statement 15 false?

1) The area of a triangle 1s invariant under the translation of the axes

5

The slope of a straight line 1s invariant under the translation of the axes

2)

3) The shifting of origin to another point, wlile changing the direction of the axes. is
called translation of axes.

4) If f(x,y) = 0 is transformed equation of a curve when the axes are translated to the

point (h, k) then the original equation of the curve is f(x —h,y —k) =0

& 808 DIVTOS’ O ogan?
1) Rrodd 800500 ‘5&?2“5 ws G7ba 9T U0 o
2) RArodd w5058 é‘;,%r"é 28 VO¥ B T Ardey
3) roDot)a 8 DoY) 4By, VFY IV S8R, TPA VAredd
8500508 @otd.
4) Soredetd (h k) DG A0y VArodd B5006 Do 2.8 ":aé‘.bédea;’;_j
Arda drddw fx,y) = 0. @ fx — h,y — k) = 0 ©9en drdo eH0d
Options :
1. % 1

]

L)

3.¥

Question Number : 9 Question Id : 8135612249 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The image of the point (6,5) in the line x = 3 is

x = 3 82 Gy (6,5) Do) DODoeadn
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Options :
L« 50

Question Number : 10 Question Id : 8135612250 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

3 bulbs are drawn at random from a lot of 50 bulbs. 5 of which are defective. Find the
probability of the event that all 3 bulbs are non-defective (drawn without replacement)

50 mmawﬁ‘, 5 eoye RET oD LoD, T o) 3 VIV & DAIrHes”
(80 20y 20T Eotddn) 3 BET Lot &ol S

Options :
1429
1. % 1960

1439
, % 1960

1149
3 = 1960

1419
4 v 1960
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Question Number : 11 Question Id : 8135612251 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let u, v and w be non-coplanar vectors. Then the points corresponding to which of the
following vectors are collinear.

1, v, w0 23Dahsnw 59 HB%e. & Sod THE' DoGe g“a RO FDED.

&5 Do’ da) PODITL?

Options :

| % u—2v+3w, 2u+3v—4w, u—7v+ 10w
)@ U 2v+ 3w, 2u+ 3v —4w, —7v+ 10w

3 % 3u—4v + 3w, —4u + 5v — 6w, 4u —7v + 6w

4 % 3u—4v+ 3w, —4u+5v—6w, —7v+ 10w

Question Number : 12 Question Id : 8135612252 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
tan 52° — tan 38°

tan 14° B

Options :
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Question Number : 13 Question Id : 8135612253 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If f(x) = 3e*" then fiix) —2xf(x) + %f(l[}) — f'(0) =

F0O) = 3% eans, /() — 2xf(0) + 5 £(0) — f/(0) =

Options :

1.330

, x R2xe™ +1

Question Number : 14 Question Id : 8135612254 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The side of an equilateral triangle 1s increasing at the rate of 2 em/s. then the rate at which
the area 1s increasing when the side of the triangle 15 20 cm 1s

28 DAY SFHBANS” HRaw 0ang), DEHDEL e 2 em /s WD HELA) 8.
230 TEY 20 cm &) Py, & GHaY PTG’ DANDEL W dod?
Options :
1 % 5v3 em?/s
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) 1043 em?/s

3 % 253 em?/s

4V 2043 cm?/s

Question Number : 15 Question Id : 8135612255 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Ina AABC. the sides a, b, c are in A.P. if and only if 1y, 15,13 are i

AABC 3ga508" a,b, ¢ 00 ©08368" (AP.) €0l 15,1,73 w0 AXyBorr & &ord

Options :
AP
« 90S3C

G.P.
x (e

H.P.
v #mé@éédj

AGP
4 % 08 (1Fs Be

Question Number : 16 Question Id : 8135612256 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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4+5sinx

" dy
, — qin—1 i
H y = Sin ( ) then find

S5+4sinx

. 1 [4+5sinx dy
y = Sin — | oA, — =

S5+4sinx dx
Options :
3
—— only
5+4s5inx
3
Fobulx Fo b

1 & otdsinx

—3
— only
S5+4sinx
-3
2 % S5+4sinx
43
3 % S5+4sinx
3
— only
4+5sinx
3
———— Arg
- 4+5sinx

Question Number : 17 Question Id : 8135612257 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let LL' be the latus rectum through the focus § of a hyperbola and A’ be the opposite vertex of
the hyperbola. If triangle A'LL' is equilateral. then the eccentricity of the hyperbola is

28 AH0°IV0IrdS T8 § ot Tah T wordw LL 8ot A edodd LU § e e
%g:m. e A'LL' @i RerT Szbao wond, e8HT V0D 6E)0dd =
Options :

1. ¢
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Question Number : 18 Question Id : 8135612258 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The equations of lines parallel to the coordinate axes and passing through point (5, —6) are

(5,—6) Doty Kretm TAP AErHTTVL DATFeBEeTT &oll Tav e

Options:

1.«-/:‘":5, y=—6
) % X=95y=6
3, % x=-5 yv=6
4, % =10 vy =0

Question Number : 19 Question Id : 8135612259 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

i 1 =tosx
i
x—0 x%

Options :

0

1. %

Question Number : 20 Question Id : 8135612260 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let ABC be a triangle. Let u = AB and v = AC. If D is a middle point of BC, then the
median of AABD through the vertex B has the length

ABC Soas0s” 1 = AB 20800 v = AC. BC zbadn aing), 206 Do) D wand,

3640 B &oé A4BD Szbaindd Ad (s do T

Options :

lu—3v|

1. % £

lv—3u]

I
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lu—3v]
3. 4

lv—3u|
4, % 4

Question Number : 21 Question Id : 8135612261 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical
el¥l g

The function f(x) = ——— + cos? (%) from R to itselfis

gxte™ %

elXl—g—%

f:R—R. f(x) g T cos? (%) .V x ER 2008 f Hnohaw

Options :
An injective function
(SN

A surjective function
Do

An even function
%8 HAoHAD

Not bijective

& des HDA0a3HEW 5D
L e O 5"

Question Number : 22 Question Id : 8135612262 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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; i 531 3?] #
2 2 2 2 e
A s (_) L (_) +c
Ccos ( ) COs cCos cos ( )

Question Number : 23 Question Id : 8135612263 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A vector in the directionof v =27 + 3 + k with ma gnitude 7 is
300°06" V7 802w $98 v =21 +3] + k p63 BIS" &) 0%
Options :

@ e 3 =
=k ]
V3 L V3 1%

S

®
S
-

b |
=l
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Question Number : 24 Question Id : 8135612264 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The polynomial x? —6x + 12 € Q[x] is

x*—6x +12 € Qfx] ;5(2":&;‘3:"":&5.‘11)

Options:
irreducible over
1w @2 DHRODEICEED

reducible over @
Q 2 DFRoDHeIDRE

ureducible over C
€ 2 DPBRoDRICGED

zero polynomial
waé EITNODE

Question Number : 25 Question Id : 8135612265 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The system of equations 2x + y—5=0.x—2y+1=0and 2x — 14y —a=01s
consistent. Then. a is equal to

(50 PDSBEANW0 2x +y—5 =0, x— 2y + 1 = 0 20805 2x — 14y —a =0 w

o0, a Dend =

Options :
1% 111}
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) % 12
16

4. =}

Question Number : 26 Question Id : 8135612266 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

2a

Tf(x)dx— J e
]

a

Options :

ff(xli dx
0

1.9

. }f F(x) dx

- sz' f(x) dx
3.8 0

a/z

f Fx) dx
4, % 0
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Question Number : 27 Question Id : 8135612267 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

j dx B
v2e* — 1

Options :

- ZTan_l(-\:‘Qe*x — 1) +c

, % 2Sin7H(V2e¥—1) +¢

- 2Cos M(V2e* —1) + ¢

4% ZCGSEﬂ_l(-ﬁZe*—' —1)+¢

Question Number : 28 Question Id : 8135612268 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

sind cosecl 7
IfA= [t dt and B = ; l dt then the value of f’iﬁ Az B =
_J T and B = J 1+ 1en the value of | ¢ 23 ? —.1 =
1 1 1 A48 -1
sinf ; cosec 4 Az B
A= [ 5 dt abaw B = f =~ dt eond (AP pL _q|=
1 bt 1 t1+1) 1 42+B* -1
Options :
1 % sin &
5> % cosec
3. ¥ 0
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Question Number : 29 Question Id : 8135612269 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

b k
Ifp=ax+by+ ki =0,g=ax+by+ ky,=0and 2= 2= 2 o the curve
' ' a b Kk
pteqis
aq bl Rl
p=ax+by+ ki=0,0=ax+by+ k=080 —= —= —e00d, p+
) ' a b, Kk
Cq D50
Options :
Not a Straight Line
1 % POFOD ST
A different Straight Line
28 Qim‘l DO B2
2. %
Same as the straight line p = 0
_ RO¥ G p = 0 A AR
A Pair of straight lines
28 Barraine)
4. %

Question Number : 30 Question Id : 8135612270 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The equation 4x2 — 24xy + 11y? = 0 represents

4x2 — 24xy + 11y2 = 0 HDESe20 B3I Drdotirdn?

Options :
two parallel lines

1 % 00GD DAT0dC Bavew

two perpendicular lines

5 % O0CD Lot) Bew

two lines through the origin
3 v S0rdoddR) Mot J'od Seven

a circle

4 % 55&9_?5313

Question Number : 31 Question Id : 8135612271 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A circle cuts off positive intercepts 5 and 6 on the x and y axes respectively. and passes
through the origm. Then the equation of the circle s

20redoti Mot JEr v,y BTV G B30 5, 6 BodGMTTVR HERT D663

1308

Options :

- ¥2+yv2+5x+6y=0

, % X2 +y?=5x+6y=0

AP EAMCET 2020
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Question Number : 32 Question Id : 8135612272 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Find the remainder when x* — 11x® + 44x? — 76x + 48 is divided by x* — 7x + 12,

x* = 1% 4 44x° = 761 + 48 R 2% - 7x + 12 8 rhotim 26\E 3 ADANR B0od.
Options :

1. 0

Question Number : 33 Question Id : 8135612273 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

37T 3
tan (—) + cot (—) ==
16 16

Options :

|

1 % -!..."I*-.,-"z —il

AP EAMCET 2020
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T

e

Bl B 1

Question Number : 34 Question Id : 8135612274 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The length of the chord intercepted by the circle x? + y? — 4x + 4y + 3 = 0 on the line
x=3y+131s units
x?+y? —dx +4y+3 =035 x =3y + 13 53 26168 eodbarotdn T

crtw
Options :

1w V1

Question Number : 35 Question Id : 8135612275 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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2 . _ :
If the normal fo the curve y = x +— at the point where abscissa 1s 2. meets the coordinate
X

axes in points 4 & B. find the length of 4B.

2
y=x+ = 3508 x-AEFHSAD 2 o6 A e9Dvotde AdrasTEanu 4 Snbaty B
Dot 96 Poly, AB Barmodatn TG

Options :
2
1% V5
7
3
2. % =
T*-.,-'E
3.¢ 2
3*-.,-'?
4. % 2

Question Number : 36 Question Id : 8135612276 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The following table represents the probability distribution of a random variable X for some
k € Q. Find the mean of X.

Sod :Jgé&'i‘ X o:ird;,&as ST GI0E) o A0 00k k € ( wand, X
cfmégj ;ﬁ.}t,‘,ﬁﬁmo Aedotiot.

X=x | -2 | -1 | 0 1 2 3
PX=x)| 01 | k | 02 | 2k | 03 | k

Options :

AP EAMCET 2020
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, 0.8

Question Number : 37 Question Id : 8135612277 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

dx .
If [ﬁ dx = f(x) + c,then f(x)is

dx : e
Jm dx = f(x) + ¢, @08 f(x) =

Options :
2Tan *(2e%)

1 .
?Tan_l(_z.s?‘”_}
4, %

Question Number : 38 Question Id : 8135612278 Question Type : MCQ Display Question

AP EAMCET 2020
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Ten points are marked on a circle. Number of distinet convex polygons of three or more sides can
be drawn using some or all of the ten points as vertices 1s

28 5380 206 10 Docd WL, ) 0BT B oI &HATol) D6 \GLde
20PE) TR BodSaT) S TR F02d0vRy SIAR Learss RIRFIRY Do

Options :
1. % 978

, » 1013

5 v 968

4 % 999

Question Number : 39 Question Id : 8135612279 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If k € N. then 3%°* — 26% — 1 is divisible by

kENGS 3% 268 —1&869 :aaa:ﬁ QB0 gflowd EdB008?

Options:
1. % 676

3 % 64

4.v 26

AP EAMCET 2020
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Question Number : 40 Question Id : 8135612280 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let P, () be the foci of an ellipse and let R be one end of its minor axis. If APQR is an
equilateral triangle. then the eccentricity of the ellipse is equal to

P,Q 00 TFROT, R TIEa) 8 QI0mar s800 28 Bg58506° POR Szonsw
R0Er Gzhadn ©ondLoNd, & BB g &) ogd Jod?

Options :
1

2

1

Question Number : 41 Question Id : 8135612281 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

For the function f(x) = x*® — x?? find the absolute minimum value in the interval [0, 1]

[0, 1] wodtop £(x) = x* - x2° HAaird3 Ho S Dewsd Bwded.

Options :

1. %

AP EAMCET 2020
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Question Number : 42 Question Id : 8135612282 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The line passing through the points (1,1,—1) and (3,—1,0) makes an angle of Tan™! (,%)
;

with plane VA x + 3y + 6z = 17. Then 4 =

(1,1,~1) 40805 (3,—1,0) Doy Aot iy 26¥8E A8asw VA 1 + 3y + 62 =
17 802 (0 206 Era00 Tan™ (ig) a0, 1 =
v

Options :

1.335

AP EAMCET 2020
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Question Number : 43 Question Id : 8135612283 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The equations x — y = 4 and x* + 4xy + y? = 0 represent the sides of a/an

¥ —y =4 200050 12 + 4xy +y? = 0 dEsrPen g o APAFow.

Options :

Isosceles Triangle
RBETET G220

Right Angled Triangle
©oeSes Sz

Equilateral Triangle
AISIIETTTPD 92502200

Scalene Triangle
2aaET TV 20200

Question Number : 44 Question Id : 8135612284 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

-1, = J (log x)" dx ,then I, + nl,,_; =

= [(logl’)ﬂ dx DN, I +nlyy =

Options :

1 % (xlogx)™

, @ X (log x)™

AP EAMCET 2020
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3 % n(logx)™

4 (logx)™?

Question Number : 45 Question Id : 8135612285 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If a line makes angles /3. m/4 with the positive x and y-axes respectively. then the angle
made by the line with positive z-axis is

1, V-85 6R G30S g B S0Rrr /3, 1/4 Srrusy 89, 8 6 2-05D) 6 H3E
BSodw § ) SV,

Options :

Question Number : 46 Question Id : 8135612286 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

AP EAMCET 2020
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An electronic assembly consists of two subsystems A and B. Past testing procedurss data
show that probabilities of failure are P(A fails) = 0.2. P(B fails alone) = 0.15.
P(A & B fail) = 0.15. Then the probability that A fails alone s equal to

A 208050 B el A Dmrdhn HdB8aEd Strdd Rozr(® 0.2, B DD W) 6
HABHE Tserdd ﬁo&?bﬁé 0.15. A Ho8ciw B dprTren ﬁod.)m"l HABHET JerS
Rogr(d 0.15. @) A drRaw 288 HABRET Her D8 RoEPd och?

Options :
1 % 0.02

, % 0.03

5 % 0.04

4 v 0.05

Question Number : 47 Question Id : 8135612287 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Let X ={(a,b) |a,b€Z, 0 <a <20, 0< b < 15}. Then the number of rectangles with
vertices m set X 1

¥={(a,b)|a,b€Z, 0=a<20, 0=h <15} %08 X A0t DotoHvay Sws'd
Q60K BEEABRAVY P08

Options :
1. % 22100

5 » 25200

3 % 25300

AP EAMCET 2020
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4 % 25000

Question Number : 48 Question Id : 8135612288 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The equation of the common chord of the circles x> + y? + 2x + 3y + 1 = Dand x? +
y2—5x—6y+4=0is

2420+ 3y +1=0 28asw x? +y? —5x — 6y +4 = 0 HTro &A0)¢
ECHAD

Options :

3x—3y+5=0

1. %

L % TV +9x—3=0

3 % 7x—9+3=0

4_{‘/?’_1:#-91?—3:0

Question Number : 49 Question Id : 8135612289 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Forn € N, what 1s the valueof 1+ 4+ 7 4+ 4 (3n — 2)

NENSD1I+44+74+4(3n—2) dewsd

Options :
n(3n+1)

1. % 2

AP EAMCET 2020
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Question Number : 50 Question Id : 8135612290 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If the mean of two samples of sizes 20 and 30 are 25 and 10 respectively. their variances are 9
and 16 respectively. their combined variance is

20 28050 30 HB30R B33 (L Totkd GPe3A0L RTRY DLVIL WA 25 2805w
10. &8 Awg). DB SR 9 20805 16 AN, & Totd BTV 2.8 (T

SOFTF D6\ (Sgroto GLVE), YD Hedocan.

Options :

% 67.9

, x 682
68.1

4 v 67.2
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Question Number : 51 Question Id : 8135612291 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The distance between the parallel lines 9x% —6xy +y2 + 18x —6v+8=101s

9x% = 6xy +y2 + 18x — 6y + 8 = 0 7rdodd VAT0SE 590 [ APGAN Jod?

Options :

% VIO

[

Question Number : 52 Question Id : 8135612292 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

F oo + Tan™? =TEn 0,

If Tan™! [ﬁ] + Tan™? [ ] +Tan™! [

1+(2)(3) 14+(3)(4) 1+n{ +1)

then 6 =

Tan'l[ﬁ}JrTan'l[ ]+ ------ +Tan! [ =Tan 16

1 S @
1+(2)(3)]+Tan L+(3'J£j4'] 1+n(n

wond, =

Options :
n
n+1

1. %
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n+1
n+2

n+2

3 % n+1

I

n+2

Question Number : 53 Question Id : 8135612293 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The eccentricity of the ellipse of minor-axis 2b. if the line segment joining the foci subtend
anl angle 2q at the upper vertex is equal to

28 B3 TS Td 2b, aows s dw aags%gm 3¢ 2a S Sived,
s B0 6] o) SR8 o,
GE

Options :

1 % cos o
2 sin a

3 % tana

4 % Secd

Question Number : 54 Question Id : 8135612294 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The equation of the tangent to the circle x2 + y? = 25 at (=3, 4) is

2 4y =25 9508 (-3,4) Dot 56 o D6 Ba dedEomW

Options:
4x —3y+25=10

5 % r¥y—=1=8
3 % 3x F4y =
4 3x —4y+25=0

Question Number : 55 Question Id : 8135612295 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

1 & Z
LetM=|2 1 2 |and]I be the identity matrix of order 3. Then M? — 4M =
2 2 1
1 2 2
M=]2 1 2|268050 283 X3 e 298 eond M2 —4M =
2 Z 1
Options :
1.v 21
2. % 31
3 % 21
a % 1
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Question Number : 56 Question Id : 8135612296 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The area of the triangle formed by the lines joining the vertex of the parabola x% = 12y to
the ends of its latus rectum 1s equal to 5. Units

1 = 12y drraead 3¢aw Ldabn THveto Edend A6\E Szbe DT O
662 0hrdLD

Options :
8

1. %

12
16

18

Question Number : 57 Question Id : 8135612297 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

- . .ood y(1l+x
Solve the differential equation 2 p0a)
dx —x(1+y)

il 1+
B _ D) | g a8 e S,
dx —x(1+y)

Options:

y—x+log(xy) =c¢
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 w X+ loglay) =

3 % XEF= log(xv) =c

s X + v + log(ay) = ¢

Question Number : 58 Question Id : 8135612298 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

cos 36 m
n cos 30

cosf  sinf

3 _
: and A° =
—sinf cosf|”

IfA= . the values of m and n respectively are

290008 M, N DRVDLN SEAT

—sinfl  cosf n cos 38

cos B sin(:?] — [ms 36 m

Options :
—sin 36, cos 36

sin 368, —cos 36
—sin 36, sin 360
sin 34, —sin 360

Question Number : 59 Question Id : 8135612299 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

2t+ 1 J
_— =
jr2+r+1
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Options :
2
" log [t +t+ 1] +¢

- log|t? —t+ 1|+ ¢

. log [t?2 —2t— 1] + ¢

. log [t2 =3t + 1]+ ¢

Question Number : 60 Question Id : 8135612300 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let @ be a complex cube root of unity with w # 1 and P = [pi j-] be a 2 X 2 matrix with

p; = ' For P2 £ 0if P* =P, thenk is equal to

D580(1) G08), K038 IV w, (W& w % 1). P = [py;] a8 2 X 2 $068 args
30808 py; = W', P2 0 0oy, k g D Dewd PX = P o)dred?

Options :

5 % o4

58

56
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Question Number : 61 Question Id : 8135612301 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

1
If @,y are the roots of x° +ax? +bx +c=0then),— = if @, B,y are non-zero
a

1
Crad+br+c=0, a0, £0,y % 0en Jreroand, ) —=
(£

Options :
—b

R

Question Number : 62 Question Id : 8135612302 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
If n = 100 and the coefficient of x!® m 1+ (1 +x) + (1 + )2+ + (1 +2)"is

201 -
C101 thenn =

L+ (14 2) + (14207 44 (142" Didead” 1'% ding), oraga 20C 4y S0Boo

n =100 wons. n =

Options :
1% 100
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, & 200

5 % 101

4 % 190

Question Number : 63 Question Id : 8135612303 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

0 —14x% =x 3c¢d
If ax* + b +ex? +50x+d=| 4x+1 3v x—4 |.thenfind ‘A"

=3 4 0

3—14x% —x 3x+14
ax*+bx® +ex? +50x+d=| 4x+1  3x x—4 | LONIPYD, A=
= 4 0

Options :

1.¢ 2

Question Number : 64 Question Id : 8135612304 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

LetA={1,2,3.....,n}and B = {a, b} if the number of onto functions from 4 to B 1s 62.
then the number of subsets of 4 containing exactly three elements is

A=1{1,2,3....,n}: B={a,b} : A R0 B & :JcSSrDo;‘mBha RofiR) Davaldwen 62
ond, 3 Aresud Srdd DA 4 g, 62 AV Ro] VY.

Options :
1 % 15

Question Number : 65 Question Id : 8135612305 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Let n be a positive integer. If the coefficients of 2%, 3% and 4™ terms in the expansion of
(1+x)"arein AP, then the value of n =

N w8 GT)S JPTosa. (1+1)" DRCRG” 25, 33, 43 DIV ragAneD
©os3i e’ &) ad, n =7

Options :

1. % 6
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Question Number : 66 Question Id : 8135612306 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

d [ 3 +4x
(8111'1 —) =

dx

541 + x?

Options :
1

: %
1. 14+x

Question Number : 67 Question Id : 8135612307 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The square of the differences of the slopes of the lines represented by the equation

x*(sec?f —sin® ) — 2xytanf + y%sin® 6 = 013

x*(sec? 0 —sin6) — 2xytan @ + y* sin® 4 = 0 2rdod B0 o0 S 8 H0A0=
Options :

1

1. %
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Question Number : 68 Question Id : 8135612308 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If 6 is the angle of a regular pentagon. then |(sin )1 + (cosB)j + (tan8) 1[ =

B 908 £ HotszRe"D St wond [(sind) i + (cosB) ] + (tan8) k| =

Options :
|sec 18]
1. %

5 |cosec 18|

—sec 18

cosec 108
)

Question Number : 69 Question Id : 8135612309 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The equation of a normal to the circle x% + y% — 2x = 0 that is parallel to the line x + 2y —
3=01s

¥+ 2y — 3 = 0 3% RAroddHm Gotar, x% + y2 — 21 = 0 58 1o ©dvor) B9

DS 6EH

Options :

| % r—2y =1
Zﬁ,x—l—Z}J:i

3 g X+2y+1=0
4 % x—2dy—2=0

Question Number : 70 Question Id : 8135612310 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In the binomial expansion of (a — b)™ . n = 5. the sum of the 5™ and 6™ terms is zero. Then

a.
the value of EIS

a- D6 RGBS 5 HAANY ASBAD won,gﬁlwbao@?
( b)“&scﬁde &5 529 SuBodw 62 HdAw & amg» Eﬁb

Options :
n—2

1.% 3

n—4
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Question Number : 71 Question Id : 8135612311 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

lim {n —yn%— fm.} =

==

Options :

1.% 0

Question Number : 72 Question Id : 8135612312 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If @, b, ¢ areunit vectors such that @ -b =a ¢ = 0 and the angle between b and ¢ i
/3. then a 1s equal to

T, b, T oS 0fes Tb =77 =080 b, T © 26 Sndw /3 wavs, T =

Options :

1. %
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Z(ET x?) only
2(b x7) argd

—Z(F}{F)Dlﬂ}’
—2(b x7) arg™

2. %
2
—_(b XC)
3.¢¥ V3
4_wi2(b_’XF)

Question Number : 73 Question Id : 8135612313 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

— 3 = ' — T [ — o 2 — o
If @, b,c areunit vectors such that a” +b ++3¢ =0, then the angle between @’ and b s

a,b, 7T o oI pd%en B0 T +b +437 = U,@m&‘:ﬁ.gvm% Emaw
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Question Number : 74 Question Id : 8135612314 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If the equation of the base of an equilateral triangle is x + y = 6 and the opposite vertex is
the point (—1,—1) then the area of the triangle is equal to 3. units

w8 A T SR80 B X + Y = 6 DT &) 8. 08 %g:m (—1,—1) o
S2on TV DAY P

Options :
8

v V3

, % 32V3

32
73

3. %

4 % 16V3

Question Number : 75 Question Id : 8135612315 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The following table represents the probability distribution of a random variable X for some
k € Q. Then find the value of k.

Sofd ::@ 28 oﬂrcﬁaﬂt)s w3 X g Rogrd(d a0 00k k e @ eowd, k =

N=x =2 | 0 1 2 3

PX=x)| 01 | &k 02 | 2k | 03 k

Options :
0.25

1. %

, % 0.2

3 % 0.15

4w 0.1

Question Number : 76 Question Id : 8135612316 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The locus of a point which moves such that the area of the triangle formed by it with the
vertices (1,2) and (=2, 5) is 8 sq. units is/are

(1,2) 208080 (-2,5) T0d 8 66 Qbral DTeo o Gzer) 206168 Dociday)

ALTAVATARIY

Options :
IX43v¥FTF=0 & X+ ¥yF3=0

1. %

5 % 3x+3y—25=0 & x+yv+3=10
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4.

Question Number : 77 Question Id : 8135612317 Question Type : MCQ Display Question

AP EAMCET 2020

3x+3y-2=0 & 3x4+3y—-25=40

¢ X +3y+7=0 & 3x+3y—25=0

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If the arithmetic mean of the following frequency table is 50. then

S0l GTroBAN AI0S), ©os0E{ve 50 Band. fi LB f; Le0SeD

Class Frequency S068 Loddan | I
0-20 17 0-20 17
20-40 fi 20-40 fi
40 — 60 32 40 — 60 32
60 — 80 f> 60 — 80 f>
80— 100 19 80— 100 19
120 120
Options :
1_33}?1:2? f2=35
L« =30 f=22
Lvfi=28 f=24
4 % fl = 32 fz = 20

Question Number : 78 Question Id : 8135612318 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical
1

COos

Find the value of 6. if [tanf| = tan 8 +

L, . ﬂ
= and 6 € [0,2n] — {i ?}

[tan 8| = tan 8 + S0basw 8 € [0, 2n] — {i

ST

}e::cmé. &=

COo5

Options:
11w

4, #

Question Number : 79 Question Id : 8135612319 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The value of |z|%? + |z — 3|% + |z — i]® is minimum when z equals

[zI? + |z = 3]° + |z — i|* cBwg), Dewsd SRR, z Ded Jod?

Options:
2
Z—im——i
1% B
5 % 45 + 3i
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1
14+—i
3. % =
1
1——1
4. % .

Question Number : 80 Question Id : 8135612320 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

When two dice are rolled, what is the probability that at least one face shows a six?

G0t s & Botdaee A0 w8 FAS 208002 ) WS “rooar;ﬁisefa QJodh?

Physics

Section Id : 81356149

Section Number : 2
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Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Mark As Answered Required? : Yes

Question Number : 81 Question Id : 8135612321 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In an AC generator. the ends of the coil are connected to

28 AC 2380606° it Foo &5 DomFHI BI®

Options:
two slip rings

1@ Sotid fr.?f} Boride

the split ring commutator
2 Bofi s 06

the external circuit directly
S/ a;“‘t‘mé;ﬁuo:iri}é

carbon brushes

SECANSEVSIEIY

Question Number : 82 Question Id : 8135612322 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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A free body of mass 8 kg is moving at 2 m.s ™" along a straight line. It splits into two equal parts
due to an internal explosion releasing 16 J of energy. and neither part deviates from the original line

of motion. Finally,

B kg TR (0 &8 S0 28 06V B (ot 2,571 S8 Dotrehved. & S Lodds
DR 08 Totkd VATV ZPrerT Eow 16T 383 deocse SV08. & SINE’ D 28
PAAN SPE G DY 011}&% B0 6% ol QSEJS) 20600 . D0,

Options :

both parts continue to move i the same direction as that of the original body

, 0ot &P 28 &3¢, T8 e §9% &) fgaé‘ &) SRV awg) B3" potreiYa
1.
one part comes to rest and the other moves in the same direction as that of the original body
28 s ?gd fge‘.’é&‘i‘ N8 B00%0t00d. Totd eraan T8 gk 5O &) %66‘ GR) AV
> aI8), 835 Hoired
one part comes to rest and the other moves in the direction opposite to that of the original body
28 £P0 JF0d DY DS Bdosotned. Bossd arddn T 2nde BN &%) ;jgaes“ &%) SY

a8, :‘059365 636" potreed

one part moves i the same direction and the other in the direction opposite to that of the original body
28 i T8 gk £0N G fg@eﬁ’ﬁ &) 0P a8 836" 20050 Fottdd A T os)

55@65 &% DOIPERD 0B
4. %

Question Number : 83 Question Id : 8135612323 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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A T.V. tower has a height of 100 m. The average population density around the tower is

1000 km and radius of the earth is 6.37 x 10°m. The population covered is

28 T.V. 056 01135& 280 100 m. & r:i)ée,sli" TR0 AT 3“0@@ 1000 km™ 2oBaixn
AV J’ﬁﬂ“go 6.37 X 10°m. 9003 dodd 2TEFR Perddo B08?

Options :

6
1« 4 x 10

, % 6x10%

4
L x 16Xx10

&
, « 8X10

Question Number : 84 Question Id : 8135612324 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The plane of a dip circle is set in the geographic meridian and the apparent dip i 6;. It is then
set i a vertical plane perpendicular to the geographic meridian. The apparent dip angle 1s 6,

The declination 6 at the place 15

DTS )30 ag) durd) FHOS Arar(do 5 B36 &od T BITSAW §). B
FHIS irar(@6 5% Voo &old trd ©IFSAW 5. & PB#ANY’ LI 08

@5":)93;.‘1)) f doed?
Options :

. 6 = Tan }(tand; .tan 8,)
1.

- f = Tan"!(tand, + tan§,)
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8 = Tan ! (tﬂn 51)

3 tan &>

4 % @ = Tan *(tand; —tan )

Question Number : 85 Question Id : 8135612325 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
If there were no gravity. which of the following will not be there for a fluid?

DS, DErdo FET'E, GTOD & §od TS’ DB S0 ?

Options:
Viscosity

raigej

Surface tension
e:’ee_:e:&ééej

Pressure
HEdo

Archimedes” upward thrust
es8) 2C.D aag:} AT

Question Number : 86 Question Id : 8135612326 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The physical quantities that have the same dimension are

oBaTe5” 208 S £HAD FAHET-F 22080 A7

Options :
Couple of force and work

E.Je_:ro:i.uriéo S0Bain HAD
1.¢

Force and power

250 QB0 0.0
2. ® =

Latent heat and specific heat
ADp00 Bo8atw DITHAw

Work and power

D SHodain &mgéo
4. %

Question Number : 87 Question Id : 8135612327 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If the rms velocity of a perfect gas at 27 °C is 500 m. s . the same at 927 °C will be

27°C .“:'cg eal ws escﬁdg 030 rms(;ﬁg ;534;55;5) S0rw) Do 500 m.s™L. @8 TS0
927 °C ;ﬁg ﬁél*.g)m e TS Mo BVDG.
Options:

- 5000 m.s™ 1

, % 2000m.s™
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-1
3 ¢ 1000 m.s

4 % 3000m.s™t

Question Number : 88 Question Id : 8135612328 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Passengers standing in a bus are thrown outwards when the bus takes a sudden turn. This
happens because of

070y 28 FOM 20002 B8R Bome” ey &) HOSPEIEY LOLBDDHD
AEDDLETED. A DOYEErIS (o S°6t0

Options :
Outward pull on them
T8 e)0de) ererren eritio

Inertia
adaSo

Change in momentum
Qéééﬁceﬁ‘ D000y

Change in acceleration

@Sdma@& LGN

Question Number : 89 Question Id : 8135612329 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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A projectile can have the same range R for two angles of projection. If t; and t, be the

times of flight in two cases. then their product

WS PEDS0 Totd G DEDS §rro 2ard J"?Sf._g R 060 & Dot "caoc’:wbvés DEDS0
& Hairrowd STeren ¢ SBOKW t, BONA, & Tolt) VL0

Options :

i & B

1. %

, » tita X R

tltz of —

tltz o F

Question Number : 90 Question Id : 8135612330 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The weight of a body at earth’s surface 1s w. At a depth half way to the centre of the earth, 1t
will be (assuming of uniform density for earth)

B> &00GV0 w8 HWY) &Go w NS, > Solo Aok Ao Brdo :.um:’: o ;o
(B qw0s), FoBBR) ASBAT S8 aw)
Options :

1.8 W

w
2. % %
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Question Number : 91 Question Id : 8135612331 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A concave lens of glass. refractive index 1.5 has both surfaces of same radius of curvature R.

On immersion in a medium of refractive mdex 1.75. 1t will behave as a

TS SoDRAS DEFSE Shto S8559 Mdo 1.5. & 05 égwmgé“gw Botir R §
PaTd0. & 505D 58353 brgo 175 0 28 airdgess’ 2ed, 08 der H381eA?

Options:

Convergent lens of focal length 3.5 R.

1 e92)A0E2 SeiSo 3“52;5509369 35R

Convergent lens of focal length 3.0 R
e92)706 StSo ::“52;’:—50@60 30R

Divergent lens of focal length 3.5 R.
e9000e3 SLiSo Fgeéénefedo 35R

Divergent lens of focal length 3.0 R
e9000E3 SeiSo F}S&.‘;’)}Soeﬁdo 3.0R

Question Number : 92 Question Id : 8135612332 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Two different wires made with same material have their radi i the ratio 1 : 2. Even their lengths

are 1 the ratio 1 : 2. On subjecting to different loads. if the extensions produced are equal. find
the ratio of the loads applied?

28 :mgoéf B0ird) Bobrag; Jod St Jﬁ%‘g"m 200050 Teapen Gotr 112 Aydd
&) . 88 Both) TV DTSRG, T8 TGV DATIN, S Dda)dém
TTO :)t’qbe;g Jotd?
Options :

1$31:4

2. % L
3.0 172

4:1

Question Number : 93 Question Id : 8135612333 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A gas contamner A 1s in thermal equilibrium with another gas of the same mass in container B.

If we denote the corresponding pressures and volumes by the suffixes A and B. then which of
the following statement is most likely to be true,

A 3 SoB6 &' &%) 00 B 3 Sov6 & &) TaudS & ’amﬂ"f‘g@eﬁ‘ &od.
D a8 S DBIBIFEFV VoSTUL A 30001 B £ 2DyEDEDIT (HB0D, S0
THED A (A0 DB BHA0d?

Options:

1 % PA:PBJVA"’_&VE
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Pﬁ = = PB i Vﬂ - VB
, PAaVg =PV

. PaVa=F Vg

Question Number : 94 Question Id : 8135612334 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Threshold frequency for photoelectric effect on sodium corresponds to a wavelength 5000A.
Its work function 13

Sﬁdo:bo:.g ‘;'jﬁeﬁ‘ 3)(',’13595 1980 2EMLL PHotoBot)d 8300 3“@:‘.’.}_‘)5‘.&50 Cﬁ.‘DS& @606@9}50
50004. ©00& o HIH20h0 dod?

Options :
1 % 157

5, x 16X 107141
4% 10717

3.¢

4w 4X10717

Question Number : 95 Question Id : 8135612335 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Figure shows an equilateral triangle ABC of side ‘[’ carrying currents as shown and placed in
a uniform magnetic field ‘B’ perpendicular to the plane of triangle. The magnitude of magnetic
forces on triangle 1s

" g i ABC &3 D30 Sroan & HHANS' dronds deavrr das
DITRAP TR BVANL VoAV ‘B’ O 08 FBH0E" GowddB. & Gaoaing’
o) 0 20 HOATER

yd

Options :

| v B

, « 2ilB

5 % 3ilB

4. % 0

Question Number : 96 Question Id : 8135612336 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Two objects of masses my and m, possess equal kinetic energies. If p; and p, are their
respective momentum, then p,:p; 1s

m; «200i0 m, Q;::Zgo“%‘om A Botdd SRV VAR d 38 $dA &) Q. Py, Pp &0

T8 B[R0 WaNd, p; :p; M)

Options :

1 ® ml:mz

Question Number : 97 Question Id : 8135612337 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If source is at a temperature T; and sink is at a temperature T,. the efficiency of the Carnot
engine 1s maximum when

aguauban (ad80) omog) &fgﬁej T, , 330030 (0S) aws), &rj@ T, eond 5‘6‘1
032081 B8 DYy 180 BL?

Options :
T, and T, are equal

| T2 0005 T, RArD30

Ty1s low and T 15 high

,  T108yd 2000k T, deyd

AP EAMCET 2020



AP EAMCET 2020

T, is high and T5 15 low

L o T1 d8d 20dasn T, 38,3

Both T, and T, are high

4 x Ti 080k T, ded

Question Number : 98 Question Id : 8135612338 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Brakes stop a tram in a certain distance x. If the force of these brakes 1s reduced to one fourth
of its original force, the tram needs the original distance x to stop.

S v 0N Bud eod Eodd GrAs” By, HHv BIEr) TR HoBIs)

ShotdTT &5 Do &5 drdan B)AD.

Options :
Double
Eegai,}_'}

Four Times
e (o[4S

Same
EaPubtaPabh)

Question Number : 99 Question Id : 8135612339 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A voltmeter of resistance R 1s to be used to measure the potential difference across a resistance
‘r". In which case the reading will be nearest to that in the absence of voltmeter?

R dBesan o 5§ b, ‘v’ G0 dws), Do e Toowe ford) Soseds
e, $08 D Hocstyo6 §BDD Wesaw S ko Ty e 318y s Gridrr

GotLok?

Options:

1 & R<T
3.$3 R:T

4.v B=0

Question Number : 100 Question Id : 8135612340 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Two capillary tubes of radii R and 2R are dipped in water, The water rises to heights h; and
h, respectively i the two tubes. If m, and m, be the masses of water ascended in the tubes
then my + m, =

mgﬂ‘*g“w R 208050 2R (i) Gotw 95050 D88 e Ao, Gotd
$395065° 08 drierds A 0er0 D000 $300 hy , hy . TGS pS Aierdd )

GR[TmH0R0 ST my , M, BoNd my tm; =

Options :
1 1:2

2. % 1:4
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3, ® 1\E

4. % 1:8

Question Number : 101 Question Id : 8135612341 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Motion of a particle is given by equation s = (3t + 7t% + 3t + 8) m. The acceleration of

the particle at t = 1 second 1s

28 S0 CE) AT § = (3% + 72 + 3t 4 8) m @D H6m0 (O Ardot)d,

f=1 28 .ﬁg & €0 aE), S(Bro 20D Jodd?

Options:

1. & 32 m.s 2

, % 10 m.s™?

3 % 16 m.s 2

23 m.s 2

4. %

Question Number : 102 Question Id : 8135612342 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The wavelength of the first line of Balmer series of hydrogen atom is A. what will be the
wavelength of the same line in doubly 1onized hthium?

TEAD HOATTHY) a30g), erenb Fede5” 20ese) Bay oS Qgém 1 wond, od o aws),
BoabRgs dBaDis a0g) 86eiBg0 Jod?

Options :
A

w 2

Question Number : 103 Question Id : 8135612343 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Two electric circuits A and B are shown in the figure. The ratio of power factor of circuit B to
that of circuit 4 13

G0t 3)6&)5@ Suoiren 4 28050 B & o8 D008 drnetdn. Ssuahaw B 2805w 4 ©

&m%?mqug

X,=3R R

X,=3R R Xe=R
I -—— AN —— — T —ANA—] |—

) ()
o &/
A B

Options:

1% V3:2

2w V211

3. % 233

4 % 4:3

Question Number : 104 Question Id : 8135612344 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

(6{]? +157 - 3?2) N force produces a velocity (2: —4j 4 5?{) in a particle. The value of

power at that time will be

w8 S0t (601 15 —3k) Arjed wewo (21 — 4] +5k) 3y @ Skwod.

PS00908" o) ;‘mgéo 200 Jodd?

Options :
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1.« 45 W

2 % BW
3 % 75 W

4 x 100W

Question Number : 105 Question Id : 8135612345 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The half-life of a radioactive sample is 20 days this means that

208 Edﬂrm‘ﬁgs HdrTe e:}g“u“.m:b_j sc0d 20 9T

Options :
the substance completely disintegrates in 40 days

DEGA 20gH0 40 Fareed” DIVODAD Do)

the substance completely disintegrates in 80 days

:qug;ﬁm 0S50 80 Fereres® DL Bt

1/8 part of the substance disintegrates in 60 days
60 B20d” DEFE0 1/8 35 S0 DRI B

7/8 part of the substance disintegrates in 60 days

60 Bareres” ::.c,rg;m 7/8 & Hochy DIVLDHAL Do
4.«
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Question Number : 106 Question Id : 8135612346 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The relation between young's modulus (V). bulk modulus (K) and modulus of elasticity (q) 1s

odofl ssaw (V), sahd mesan (K) Jdrdn dnsaw (q) v 6] Rototdaw

Options :
3 1 3
Yy &g
1. % 1
i i 1
_=__|__
NV ¢ qg 3K
1 .. 3 1
sx ¥ qg 3K
1 3 i |
77 Tk
4. % 1

Question Number : 107 Question Id : 8135612347 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

If a charged spherical conductor of radius 10 em has potential V at a point distant 5 cm from

its centre, then the potential at a point distant 15 cm from the centre will be

10 cm mﬁé"gm o 28 3D AV Trsiw g Sodn Aod. 5 cm Erdans”
TOADS V 08, Sogw doot) 15 em 56 THIoHES Dews

Options :
1
—M

‘I.**’g3
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4% 3V

Question Number : 108 Question Id : 8135612348 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Two parallel plate capacitors are connected in series. Each capacitor has a plate area ‘4’
and a separation ‘d’ between the plates. The dielectric constant of the medium between
their plates are 2 and 4. The separation between the plates of a single air capacitor of

plate area A which effectively replaces the combination 1s

DS DTV A’ DVSL E{ETG0 d’. dDosw 200 QIR ofal ?lcgc*’os"w 2
298030 4 (50 Both) VATeSE Hug SFnd o 353° dFrd. & Ro0IFTT)y €08
Derddntie ™ clrdge. Do DTV A i 2080108 Srtb & HAZHoETvot) &

ST RWE DUV G| ArdIw

Options :
2d
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Question Number : 109 Question Id : 8135612349 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A geostationary satellite 1s taken from one orbit to another orbit. whose distance from the centre
of earth 1s 2 times that of the earlier orbit. The time period in the second orbit 1s hours

w5 E;':«J‘g"a‘.)d gafaran ol &%5 o 5&;105’.3_‘) a‘gﬁg;ﬁn (#rdogian doc §O0N) Ao
DB'E S£(6578 DodedioB. Totsd SE(6" T BIGH VA fokae.

Options :
1 % 4.8

v 4842

2.

3 % 24

Question Number : 110 Question Id : 8135612350 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A body takes 10 minutes to cool from 60 °C to 50 °C. The temperature of same body after next

10 minutes will be (If the temperature of surroundings 1s 25 °C)

8 3309 60 °C Rvoc. 50 °C hwecerds 10 Jsohnen DALRD. Hoaws 10 QA0

S6T8 od St 6Je [0 60 25°C]

Options :
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% 40°C

, % 48°C

; »43°C

, % 455°C

Question Number : 111 Question Id : 8135612351 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A particle executing uniforin circular motion has

w8 DY) VBB JyTT6 Do DA Gotruod

Options:
Radial velocity and radial acceleration
F}‘)tﬁgﬁﬁo bablelonth] ﬁhﬁgejgdﬂo

Transverse velocity and radial acceleration
S6{S Dffo 0BoI 6 B(Seso

Radial velocity and transverse acceleration
3Gy Sodatn SEfS Sqdeao

Transverse velocity and transverse acceleration

S6(S Dffo B0 BE(S S beso
4. %
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Question Number : 112 Question Id : 8135612352 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Magnetic lines of force due to a current i a circular conductor are

DS DIPRN) JTTE TPEA0 J0d A6YED oY ed B T

Options :
parallel to the plane of the coil
. é‘)ﬁtﬁ.’%} eerds DIAToBGID

perpendicular to the plane of the coil at the center only
08 BerAS Vordol™ oS 26 2B

perpendicular to the plane of the coil everywhere
o8 BeAS VololT JE) EF°

Zero
ar.aﬁé;im

Question Number : 113 Question Id : 8135612353 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The emf induced 1n the secondary coil due to umt rate of change of current m the primary 1s

called

FEDS MY DS & 2,8 ArAE Ay G S, Fer SMfS” 6\E 2B
(emf) i}méwavs werdy #0E)

Options :
Impedance of two coils
, 006 they ciwg) 5860
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Reactance of two coils

- ot m% g, DB o

Mutual mduction of two coils

Bod L) T3NS 03(H( D
- o % ST gpelelc

Self induction of a coil
4 % S T YO0 6

Question Number : 114 Question Id : 8135612354 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The displacement is given by x = 2t + t + 5. the acceleration at £ = 2s is

f'é"’sb Bordw x =2t* +t+5 W ArIY, t = 25 DG BUGEND BLYDW.

Options :

-2
1« 4m.s

5 % 8m.s

3 x 10m. gL

4 % 15 m.s™ 2

Question Number : 115 Question Id : 8135612355 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

The ratio of the strengths of the four fundamental forces in nature, Fo : Fy : Fg : Fyy =

28,88 Traur Fes wero WS FoiFyiFpiFy =

Options :

| x T T0M: 10F8 2 1090

, x Iz 40°%s 40% 5 0¥

124032 3038 = 1055
3. %

TR & 0% ¢ s

Question Number : 116 Question Id : 8135612356 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Calculate the heat absorbed by the system m going through the process shown in figure
Do & wrad piab oo Fdod) 3% T B &ar) (fedoldn.
P (kPa) &

300

100

v

Vice)

Options:
1 & 31417
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, % 3147

5 % 314X 1047

4 % 314%1087

Question Number : 117 Question Id : 8135612357 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A point charge of 107 C is situated at the centre of cube of 1 m side. The electric flux through
its surface 1s

1 m oz SDAD wg de s, Solo bg 107 € e35%0 (0 w8 Dotk e.e;f:?:)l GOl
0908 2220, L9003, &0V AT Eold S ©DTT0 Jod

Options :

1 % 113 % 0N m>.c1

, % 113x10*N.m*.Cc™*

: 104 2 -1
3_ﬁ/1.13><1ﬂ N.m-.C

4 x 0113 x10* N.m®.c™*

Question Number : 118 Question Id : 8135612358 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

An accelerated electric charge emits

S Bea0 Boldd 355..)595 e T L) &g&ozﬁ.}éﬂ

Options :
a-rays

1 % Q-S0FFeD

[-rays
5 % [-S6tTen

Electro Magnetic waves

. &3@@@&3’0@ SSoTTen

Matter waves

S Ao
4 % &%

Question Number : 119 Question Id : 8135612359 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

A 10 kW drilling machine 1s used to drill a bore in an alumintum block of mass 25 kg. If the

machine 1s on for 3 minutes and 50% of the heat Liberated 1s taken up by the block. then the

raise in temperature of the block is (specific heat of aluminium is 900 T kg K ~%)

10 kW 5“;.‘1)25;11: o ¢0ofh atbogr) 25 kg B3 () sur(hIke B} Febw
GO RoETE). € abodan 3 Aawden 59 B 2200 &1206° 50% &)

B2 FobEoll. & B2 awg) aded’ ddbaw _ (wurgdabin HYHdw
900 Tkg™ K1)

Options :

1 % 20°C
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, v 40°C
3 % 85°C

4 % 150°C

Question Number : 120 Question Id : 8135612360 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
A wave 15 represented by x = 0.4 cos (BI = %) where x and y are in meters and t in secs,

The speed of the wave is

8 860 D) x = 0.4cos (8t — L) 1 2amoDi ot 34 Jos? g x Hrbaty y e
', t ASWVSRT 6 D.

Options :

~1
- 0.5 m.s

, x 8ms?

—1
» 16 m.s

—1
“ 0.1 m.s

Chemistry
Section Id : 81356150
Section Number : 3
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Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Mark As Answered Required? : Yes

Question Number : 121 Question Id : 8135612361 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

2FeCl; 4+ SnCl, — 2FeCl; + SnCl, . This reaction is an example for

2FeCly + SnCl, — 2FeCl, + SnCl, . & 6§ BID 206 ?

Options :
Third order reaction
B0 S3070S TS|

Zero order reaction
%mélq' SaT08 ::'31:55

First order reaction
DG 85708 C’Jdé

Second order reaction
BBOD garros O

Question Number : 122 Question Id : 8135612362 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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When sodium 1s dissolved in liquid ammonnia. a deep blue coloured solution obtained, This
colour of the solution 15 due to

83 w:mé:}um‘i‘ oo §F) sBAcuT 28 D Botly Trdeasw ANAD R bl
0 A GorbsH SomAw
Options :

Ammoniated electrons

w:xré:}uiscﬁ Erdd dousPAeD
1. ¢ =

Sodium 1ons

5 % D°G.ode esosrAen

Sodinm amide
Dl oo dnE
3. % a

Ammomated sodium 1ons

9207 oS S J'dao oI
4, %

Question Number : 123 Question Id : 8135612363 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Which of the following can be used as a chain transfer agent during vinyl polymerization?
80ATG" DY FH0026m08° 3y00) LIEErAN0Y) SEEANT HABADAVE
Options :

v CCly

, « CoHsOH
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t- butylperoxide

. t-w&!@ﬁ ::TE:}E,

Diphenylamine
, GRS DD

Question Number : 124 Question Id : 8135612364 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
Which among the following is not a property of silicones?
808 T7IS5° HHED G680 528 NTAYy

Options :
They are organo-silicon polymers having R,Si0 as repeating unit
R,S10 0305 2pR0°H5 30800y &TeS-205°D Td6

They are water repelling due to non-polar alkyl group

DGy 38) S DIFLTe S0 B DSBIraw

They are biocompatible

£9a) 2TrAMRDVND

They are good conductors of electricity

£95) SVot) 33::&355“5:3“5“9.13

Question Number : 125 Question Id : 8135612365 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Find the gas. if its density at 273 K temperature and 76 cm Hg pressure is 1.94 g/dm?>.

273 K &5 206aio 76 om Hy 6880 56 a8 Traing) Fogs 1.94 g/dm’ wand,

R leviity)

Options :
1% CHa

, « CoHe

3.v €0

4. % Xe

Question Number : 126 Question Id : 8135612366 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The concentration of hydrogen ion in a sample solution is 4.7 x 10™*M. Find its pH.

28 AAPT ranand’ FESD alrd mEd 47 X 107*M wond, o pH dod?

Options:
2.32

1. %

233

3 % 470

0.047
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Question Number : 127 Question Id : 8135612367 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

BOD means

BOD esamr

Options :
The amount of oxygen utilized by organisms in water

| % DS’ EHew DIAITAot 582D

The amount of oxygen utilized by microorganisms for decomposition

DA we§ S6L BSD RSy, PR OISR ey
2.

The total amount of oxygen present in water

- QS D) Do 582D HBATE

The amount of oxygen decomposed by organisms in water

. DISD Baen DErE HOBD 38\ DBATEBD

Question Number : 128 Question Id : 8135612368 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Hybridizations of C,, C3 of H;C — CH = C = CH — CHj; respectively are

HiC —CH=C=CH— CH; & (,, (3 ® Ro8556eTe0 HE0M
Options :

3
£p, 8
1. i p.' p

2
2. AP
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2 2
3wsp,sp

4. % SP:SP

Question Number : 129 Question Id : 8135612369 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The mass of urea required to make 2.5 kg of 0.25 molal aqueous solution is

25kg © 0.25 rerd 20 THET) S0IrG) SANOL THUNN Aol $H{0°3 ritdotSod..
Options :

3.7¢g

1. %

Question Number : 130 Question Id : 8135612370 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which metal among the following 1s most sensitive towards oxidation?

SodHT3e5", ©S(od VT u%ﬁdm‘*bé (8 a3y e5°5 A A7

Options :
1. % Fe
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2. ® Cr

3.\.‘/Cﬂ

4 % Al

Question Number : 131 Question Id : 8135612371 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Boron halides usually are Lew1’s acids in nature. This 1s due to

e5°0"S HPOERD DOY FTTERCTT VPN VML (10 S°60 Bedol.

Options:
Presence of six valence electrons
escd ;59.:.53 JJUE“@ ' ¥

Their 1onic character
T8 a3 s Rerde

Presence of lone pair of electrons
2,088 VTS 2ot &S

Their covalent character
T8 HAdradoi R0

Question Number : 132 Question Id : 8135612372 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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The correct decreasing order of basic strength of H,0, NHy, OH ™, NH, i

H,0, NHy, OH~, NH, © T°6 0ere 28008 0587506 $20430 $H00t0am.

Options :
1. Hz{j = _If"'l.'ng >0H = NHZ_

, % OH™ > NH; > H,0 > NHj,

3 % NH; > H,0 > NH, > OH™

4 % NH3 >H,0 > OH™ > NH;

Question Number : 133 Question Id : 8135612373 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In acidic medium. 10dide (I7) liberates 1odine (1) in the presence of KMn(0,. The change in

oxidation number of manganese in this procedure 1s units

) a3rgand’ KMn0, & 96 wairgé (I7) vosrdy oares (1) & ddde
S050R. & HINS" Ao e85 VofE"D Ardyy VNN

Options:

1.% 7

2.# D
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Question Number : 134 Question Id : 8135612374 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

At300 K. PClgig) = PClyg) + Clygy and K, = 1.8 X 1077, Then calculate its AG°.

PClyg) & PClyg) + Clyg) w56{8, 300K 56 K, = 18X 1077 00w, AG® & fiedotsoc:

Options :
: -1
1 38.72 kl.mol

5 % 44.80 kJ.mol™

=
3 % 80.80 kJ.mol

4 x 45.80 kI.mol™"

Question Number : 135 Question Id : 8135612375 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which reaction among the following will vield 2.2-dibromopropane?

Sod TS D WO 2,2-GE5 20" TS A BRB?
Options :

: ¥CH3—CECH+2HBI' —

> % CH; —CH =CHBr + HBr ——

3 % CH=CH+2HBr——
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, » CHsy—CH = CH, + HBr ——

Question Number : 136 Question Id : 8135612376 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which of the following plots is correct for a zero-order reaction?

& Sod S DHOS’ BR] £T708 LGS VOADLAG D&?

Options:

a \
1.¢ :

log(a-x) \
2. % t
3, % L
4, %
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dx/dt

(a-X)

Question Number : 137 Question Id : 8135612377 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Teflon 1s an example of

S €) Erron

Options :
Formaldehyde resin

507, 0C o2

Polyamide
F el
2. % =
Polvester
FOI6
3. % =
Addition polymer
4 Doswd FOH6

Question Number : 138 Question Id : 8135612378 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which among the following 1s the possible electronic configuration of an element *X” having
first and second ionization enthalpy values as 520 kI.mol™* and 7300 kJ. mol ™" respectively

2068 20805 Tols BOrDLEn Qoﬁ“bbw Seodrr 520 kI mol ™ 208080

7300 kJ.mol ™" £dActody ¢ Sareso X dwe) Jusd DT [Ro $oOT IS DO T0N?
Options :

- 152 25% 2p?
9 % 152 252 2p3

3 157 25% 2p° 3s?

4 % 1s%2s5%2p®3s* 3p?

Question Number : 139 Question Id : 8135612379 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which among the following can be explained by adsorption theory?

2od DSOS AT hgo@m &0 BA DIGEBoTsHEN?

Options:
Homogeneous catalysis

a3 &3 \Oo
1. % Pt

Heterogeneous catalysis

QP e Oeao
2.9 ~
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Enzyme catalysis

DoR0 e 00
3. % =

Acid base Catalysis

e5: B0 &3)0e30
4. % —

Question Number : 140 Question Id : 8135612380 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
In froth floatation process for concentration of ores, the ore particles float because
DI pSab bg@é‘ FBPVA TG DAV Y6 TESETeD PS5 ot S°Erdn

Options:
They are light

o) B95H

Their surface 1s not easily wetted by water

T°8) EDBGLAN DOSE BEIE

They are msoluble in water

09 DeIeS°® S

They are charged

£95) e30F PO Seashnen

Question Number : 141 Question Id : 8135612381 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Ky values for H,. CO, , CHy and 0, at 298 K are 71.18. 1.67. 41.85 and 34.86 Kbar.

respectively. Arrange these gases in the increasing order of their solubility,

H,, C0O, , CH, 080t 0, © Ky devden 298 K a‘dtg QA 71.18. 1,67, 41.85 20bodw
34.86 Kbar ev. 88 Trosnd)od 6 granabde ebirn shs” 006,

Options :

1 % Hz < CH4 = 02 i COE

" HZ = CH4 = COE < Oz

3 ¢ c0, <0, <CH, < H,

4 % CO, < CHy <0, < H,

Question Number : 142 Question Id : 8135612382 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Real gases deviate from ideal behaviour because the molecules

Q2T 3R BEGRHGD Aot JHVTR) WrYLL SGte TE VYLD DV

Options:
Show Brownian movement

1% R0 BVT ) WYL

Contain covalent bond

- AT D00 2oty $9AICE
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Are colorless

agdﬂj"@oﬁ“ oGO8

Attract each other

28D EE) e38B0tIS AL
4, & “}

Question Number : 143 Question Id : 8135612383 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

When is a reaction is spontaneous”?

28 B3] RO DD ED 2EMA7?

Options :

1 % AG =0
> & AG < 0
3 % AG =

Can’t be determined based on AG

4 % AG esgrBorr SGSQQ::’Jﬁ:m

Question Number : 144 Question Id : 8135612384 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Identify the product Y in the given reaction
Conc., HNOy Cls
@ > X —> Y
Cone. H.50, FeCla
Sodd 12565956 &e_?;}élu Y D dwdot
e HNO; ClL
O > X —> Y
e HaS0, FeCls

Options:

1-chloro-3-nitro benzene

1-§6-3-2¢5° &89
1.4 °

3-chloro-1-nitro benzene

3-88-1-2¢5° TS
2, % TR

2-chloro-1-nitro benzene

5 x 2-58-1-28° 802D

1-chloro-4-nitro benzene

1-88-4-2¢85° G023

4. %

Question Number : 145 Question Id : 8135612385 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The general formula of a cycloalkane 1s

208 g0 (HoaD) ) S e, T éﬂd.)é’a:r“

Options :
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Coill
® nei2nt2

CnHZri—z

CHHZH

CnHp

Question Number : 146 Question Id : 8135612386 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

To a muxture of LiCl, AlCl; & NaCl. ether 1s added. Which of these will be extracted
mto ether?

LiCl, AlCl; & NaCl & db3ardd &6 & gendrr £ 6°08 Ry, Bots QG d0?

Options :

. % LiCl,NaCl

, o Licl, Alcly

.« AlCly NaCl

“ LiCl,AlCl; ,NaCl

Question Number : 147 Question Id : 8135612387 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Which of the following compounds would undergo aldol condensation?

o 25" @ R0 FHA0 LS VOVAD BB oS rien?

Options :
Methanal
1 % VOIS

Butan-1-ol

mée.j.ﬁ-i -5.,85

2-methyl pentanal

2-a03e Dolyared
3.¢ =

2.2-dumethyl pentanal

2,2-GadBE DTS

Question Number : 148 Question Id : 8135612388 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

For any pure liquid at pressure of 1.013 bar. the temperature at which the liquid and vapor are
at equilibrium is called

1.013 &6 ¢ bg SJQE 28 %\3%’3 G0 CI0E), G0 HOAN &0
mwgw ol egg@m e90T )
Options:

Melting point

BDBID Fd30
1. % ®
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Boiling point

TR BOD FHIW

Freezing point

DDBID guaa.m:

Triple point

, w85 DoD

Question Number : 149 Question Id : 8135612389 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Isobars are atoms with

DVerden (o DOEIATED)D.

Options :

Same mass number and same atomic number
RDCRHROR GDI07F Do) VOCKL VATRIN DO Vodd]

Same atomic number and different mass number
RD°RROR DEDTED Voddf D0BosL QDD SOTF Do

Same mass number and different atomic number
RBEDZOD BI[0°B Do) B0 DAY DEATEW Doy

Ditterent atonmuc number and different mass number

DD DOAT LD Do BN DD GSHT°2 Rod
) o2 I3) ST Rowy
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Question Number : 150 Question Id : 8135612390 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

An aromatic compound “A” on treatment with Zn/NH,Cl and subsequent heating with ammonical
silver nitrate solution gives a black precipitate. Which functional groups does *A” contain?

A 80 uBard8 vl ¥dodo Zn/NH,CL &S] 280, Shd wdr) J88 Hexb 2865 & 3d
Bo0r 8 HA LIZHA A6YENA. Land, ‘A 6" B0k AFTAN SO?

Options :
1« —CHO
2.v ~NO;
3. % OH

4 % —COOH

Question Number : 151 Question Id : 8135612391 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Which of the following undergoes nucleophilic substitution exclusively by Sy 1 mechanism?

$o8 T Sy 1 eh0rf ARG’ Ardd Argairads HOZn 2008 A6?

Options:
Ethyl chloride
25e S0&

Isopropyl chloride

, x DTS £3&
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Chlorobenzene

3 % éﬁﬁf o

Benzyl chloride

Eo3e5 §8&
\x a o O

Question Number : 152 Question Id : 8135612392 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The oxidation state and covalency of Al in [AICI(H,0):]** are and respectively

[AICI(H,0)5]* &° Al G3g), es8y86 23 B0k DA BAD Vodrasden SEwm
Options :

 x 3 &3

, x 13 &3

- —3 & 6
» +3 & 6
Question Number : 153 Question Id : 8135612393 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Phosphorous can be stored in

6D & &5° Dewsd BFdo
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Options :
Kerosene

A8HD

1. ®

Aleohol

5 % uv_ab::ﬁﬁ

Water
3 v

Ammonia

4% w?_:féaa:ir

Question Number : 154 Question Id : 8135612394 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

In an electrophoresis set up. colloidal solution of glycine having pH of 5.97 1s kept at
constant T and P, What will happen if few drops of base are added to 1t.

gs&:m agﬁgjéu 56 pH 5.97 ffo A0 Sgrand mraedy DAEFDNS 563 VDI
DA MBTR. A8 £8 e o ToY) €908 D a0MBR!

Options:
Cataphoresis

1 % SEPITOR

Anaphoresis

5 9T D
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Precipitation

95 Z D0 Qﬁb CORD

Decomposition

4 % SIABEB

Question Number : 155 Question Id : 8135612395 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The oxidation state of Co in K[Co(C0),] is

K[Co(C0),] &° Co g, 58868 28 06?

Options :
1. % +3

2. % —3

Question Number : 156 Question Id : 8135612396 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Match the following items of List-I with those in List-II and choose the correct option

List-I List-II
a) [S,05]% I. Paramagnetic
b) H,0, II. Toxic gas
¢) H,S III. Strong reducing agent
d) S, IV. Disproportionate in presence of Mn**

E)Sg-l &5 BTN E)E}:-II &5° HAR oTRE 28 DB Sobd TS’ 20 0N Jotod

ORY 0&-II
o &
a) [$,05]% L D0 8500 0 DTG0
b) H,0, I DHPOS T050)
¢) H,S [T w0008 LoHsdes
d) 5, IV. Mn?t 2208:800° eododeed :565

Options:

. (a=1IV),(b=11),(c—=1),(d—=1II)
- (a—=1),(b=1I),(c—=1IV),(d—=1I)

(a= M), (b=1),(c=1),(d—=1V)

4o (@10, (b IV), (e~ 10),(d>T)

Question Number : 157 Question Id : 8135612397 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical
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Glucose on prolonged heating with HI gives:

HI & 8% seoiw 088 & D Sasrr RLN-AEY

Options :
n-Hexane

N=275-0
1.¢ .

2-Methyl pentane
2-088 203D

Hexan-1-one
EJ“EDE- 1-8.

Hexan-2-one

Ey9-2-809
4. %

Question Number : 158 Question Id : 8135612398 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Option Orientation : Vertical

Helium diffuses four times faster than which of the following?

ot <700 TRVM> T80 Dol THHVBN BocIB0d

Options :
Cclo,

2.v 202
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NO,

Question Number : 159 Question Id : 8135612399 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

The oxidation state of phosphorus in cyclo-tri-meta phosphoric acid 1s

2E- 8- Dot 0B 5006° J0yED 351560 HS BeHIAW

4.¢+5

Question Number : 160 Question Id : 8135612400 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Option Orientation : Vertical

For the reaction. 3C,H, (5) —— CgHyg (4). calculate the standard enthalpy change. The
values of AH, for C,H, and CyH, respectively are 250 k1. mol L and 90 kJ. mol ™.

BCZHZ {HJ — CE]HB (g) E:Jqsgj ;;,&53"['3‘ aﬂﬁfs}b wd);} ﬁﬁﬂéﬂ& r:sz aSlalenhb) CE;H;_" 3
AH, Jeoden SR 250 kI.mol™ So8akn 90 kI.mol ™,
Options :

1 » 1660 Kkl mol™*
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— 260 kl.mol™!
2. ®

3 % + 260 kJ.mol™t

A 660 kI.mol™?
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